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#1 Solve for x (simplify completely):

a) 6x° -2x-3=0 b) 2x* -4x+5=0 ¢) 2x* +2x=-3

#2 Find the Vertex for each of the following, and then sketch the graph:

a) y=x*-2x-3 b) y=x? +2x ) y=-x*+4x-2
2.1 2,1 5.1

#3 Simplify the complex fractions: a) ¥° Y b) X_Y¥ c) ,§
41 3_4 =
N x 2+ e

#4 Find the center and radius of each circle, then find four points and sketch the graph:
a) x? +y? -6x+4y-4=0 b) x? +y? +8x-2y-8=0 ¢) x2 +y? +10x+6y +18=0

#5 Perform the indicated operations invelving Complex Numbers and express in standard complex form:

a) (-2+3iX5-7i) b) (4-9i)(3-2i) ¢) Simplify: % d) Simplify: %
#6 Solve the following system of equations for x, y and z:
3x+2y-z = 4 -2x+5+z =8 2x -3y+z =-9
a)2x -y +2z=10 by x-2y-3z=-13" ¢) 3x +By+2z=16
X +3y—-4z2=-7 x+3y-z=2>5 -4x +2y -3z= 4
#7 Solve each of the following for x and y:
x?+y%=5 - x%-y%=3 : x%+yi=8
Q] . by 7, o,
x-y“=-3 2x+y° =5 X -y=2
#8 For the information given, find the values for the five remaining trig functions for 8:
a) 5in6=%and Tan©0>0 b) Tan8=2 and Cos8<0 c) Csc®=-3 and CosO>0
#9 Given each AABC, answer each of the following (round each answer to nearest tenth):
a)Ifa=12,b=8andc=5. Find £C b)If LA=50", ZB=75",a= 20. Find side b.
¢)Ifb=9,c=6and ZA=67". Find side a. d)If £C=37", £B=79°, b = 13. Find side a.
#10 Prove each of the following Trig Identities:
. 1 .
a) Cosx + 5inx-Tanx = Secx b} Cscx - Sinx =Cot X - Cosx c) - =Tanx - Sinx
Cosx Secx

d) Cscx-Cotx-Secx =1+Cot’x e) Sinx- Tanx -Cosx =1 - Cos®x f) Cscx - Secx = Cot x + Tanx



#11 Solve the following Equations for x, where 0" < x < 2m:

@) 45inx+2=0 b) 6Cosx-3=0

#12 Solve to the nearest tenth:
a) 3*=38 b) 2* =19

#13 Evaluate the following without the use of a calculator:
a) log, V2 b) |093%

¢) 2Tanx-2=0

c) 4% =7

¢) log, 64

d) 6Tanx=-2v3
d) 5* =29

d) logs v5



~ .~

Answers to questions:

4 o 1240 b 2446 9 ~1+iV5
6 2 2
#2 a) Vertex: (1, -4) b) Vertex: (-1, -1) c) Vertex: (2, 2)
2+y 2y +X 6x% —x x(6x~1)

#3 a b
#3 o) 7= ) 3xay axZ+2 | 2(2xE+1)
#4 a) Center: (3, -2); Radius:r= \fﬁ b) Center: (-4, 1); Radius:r=5 c) Center: (-5, -3) ; Radius:r=4

. . 5 1. 22 29.
#5 a) 11+29i b) ~6-3bi c) S+5i —E—é——gl
#6 a) x=3,y=-2,z=1 b) x=3,y=2,z=4 c) x=-1,y=3,z=2

#7 a) (-2,1),(-2,-1), (1,2}, (1,-2)

b) (2, 1), (2, -1), (~4,v13). (~4,—/13)

c) (-2,2),(2,2),(i,-3), (-, -3)

#8 a) Cos6’=-—@ Tané:l—:@ =—§——=@ Csc9=§ Co1’6'=@
' J21 21 ¢ J210 21 ¢ 2
: 2 245 1 _ 5 J5 1
_———-— C 6=——=—— s =— = ——mmaa = e
b) Sin8 N 5, $ 75 5, ecO \/5 CscO > Cot8 5
¢) sme=-% Cose=¥’ s ce_i@' Tan9=——2a-!fz_~' Cot@=-242
#9 a) £LC=176 b) b=25.2 c) a=86 d) a=119

#10 LHS = Left Hand Side.

RHS = Right Hand Side.

. .2 C 2 5 2 1
a) LHS: Cosx +Sinx- Sinx (Cosx)Cosx+ Sinx _Losx+oinx. = Secx
Cosx \ Cosx Cosx Cosx Cosx
Si 1-Sin’x _ Cos’
bYLHS: Cscx -Sinxs= ——L——Sinx[ !nx z Sin x _ €os = Cosx - Cosx = Cotx - Cosx
Sinx Sinx Sinx Sinx  Sinx
1 1 Cosx{Cosx) 1-Cos’x Sin’ i
c)}LHS: L. = - [ = o8 X SN X Sinx -5inx = Tanx - Sin x
Cosx Secx Cosx 1 Cosx Cosx Cosx Cosx
1 Cosx 1
d) LHS: =~ =Cse’xz14+Cot’x
Sinx Sinx Cosx  Sin’x
. Sinx .2 2
e) LHS: Sinx. «Cosx=Sin“x=1-Cos" x

Cosx



Answers to questions (continued):

ALHs: Silnx ) Colsx ] Sinx-1 Cosx ) Slsr:l:z:g::;x ) Sinii:. st ' Sinff-s :;c:sx ) :;2: i ZT:: - Tanxs Comx

#11 u),(:%",%"_ b)x=%,—5§"— c)x=%,§} d) =5?ﬂ1_1611
#12 a) x=33 b} x=4.2 c) x=14 d} x=21
#13 q) & b) -2 ¢)3 d) %



